METFMmMENLAAIANLDHEE CREIZE
A*#LH I F 4 T e flire TiEEE 02-0015 BFE—=xXT=E
CHERSHIEERQ = *
TERk224E1087H HEEER/IRREEREZOMIE 23,180,000 RIHE #HhERE No62
[ETMmE %]
TEDHEIRED BREFERMEDERSE | thigFHEEE | FEEL
5T {8 B TEIEATHM B BRET (o omerpoie |EEEE B |6 GE EHAE-XES |gegEgsc| SRS
DEHH EDOEIERE PRl \MEOEE  |BORIEE |OFTE BHAEEIER
B XY =$r = 40 3.0 1.0 20 20 2.0 2.0 16.0
($ 7514 = ]
TEDHEIEERN BREFERMEDERSE | thiEFEEE | FEEL I
HEEE TEIEATHAE B AT |comermon |EEGE B (TE @D HH A XES (SEBEEEC GEmain| #
DEH S ENMEIESE RLRLAANT HiE DB  |[BORIEE |OFE BITAEEIEH
BERE 0.0 0.0 0.0 2.0 1.0 2.0 2.0 7.0
(B4R 0.0 2.0 0.0 2.0 2.0 2.0 2.0 10.0
ik 2 Kig 0.0 0.0 0.0 2.0 0.0 2.0 0.0 4.0
MERmITE 2.0 1.0 0.0 2.0 2.0 2.0 2.0 11.0
ERLEKY Y 0.0 0.0 0.0 1.0 0.0 2.0 2.0 5.0
MEBSTE 0.0 0.0 0.0 1.0 0.0 2.0 2.0 5.0
[ 48 0.0 1.0 0.0 2.0 2.0 2.0 0.0 7.0
WA T 3.0 1.0 0.0 2.0 2.0 2.0 2.0 12.0
[(REEHEFER])
—— TAE 5 (100)+$% |EEAEE(B/A X
AfLE ANEE@BERE) A |eams 6 1 000.000) = B =
(B 21,900,000 107.0 4.8858
GES #frﬂ 22,600,000 110.0 4.8672
WA 2 RERES 22,360,000 104.0 46511
MERTE 21,800,000 111.0 5.0917 E L
ERLEKY Y 22,130,000 105.0 4.7446
MESTE 22,150,000 105.0 4.7404
[EEH48 22,500,000 107.0 4.7555
WAL/ T FEE 22,800,000 112.0 49122 1




BEFTmEmELNAIXIANLDHER
A*#LH I F 4 T e flire TiEEE 02-0015 BFE—=xXT=E
CHERSHIEERQ = *
ERk224E10H7H HEEER/IRREEREZDOMIE 23,180,000 RIHE #HhERE No62
[ETMmE %]
TEDHEIRED BREFERMEDERSE | thigFHEEE | FEEL
a1 i 25 B TEIEATHM |FHE BRET (o omerpoie |EEEE B |26 GE HHAE-XES |gegEgsc| SRS
DEHH EDOEIERE PRl \MEOEE  |BORIEE |OFTE BHAEEIER
B XY =$P= 40 3.0 1.0 2.0 20 2.0 2.0 16.0
($ 7514 = ]
TEDHEIEERN BREFERMEDERSE | thiEHEEE | FEEL I
= . ATEFMm R
FRER TEETHM (R AT | omerpe [T (BB |2 (B0 Wi KI5 XE% |@EPRBEC| GrEassn| W =
DEH S EDMmIES RLRLAANT HiE DB  |[BORIEE |OFE BITAEEIEH
A<= AES 0.0 1.0 0.0 1.0 0.0 2.0 2.0 6.0
MR ITHE 3.0 1.0 0.0 1.0 2.0 2.0 2.0 11.0
[(REEHEFER])
F—— TAE 5 (100)+$% |EEAEE(B/A X
AfLE ANEE@BERE) A |eams 6 1 000.000) = B =
A< IR AES 22,480,000 106.0 47153
MZRITHE 22,750,000 111.0 48791
2




